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37.

There’s a direct counterpart to pop music in the classical 

song, more commonly called an “art song,” which does 

not focus on the development of melodic material. 

(A) But the pop song will rarely be sung and played exactly 

as written; the singer is apt to embellish that vocal line to 

give it a “styling,” just as the accompanist will fill out the 

piano part to make it more interesting and personal. The 

performers might change the original tempo and mood 

completely. 

(B) Both the pop song and the art song tend to follow 

tried-and-true structural patterns. And both will be 

published in the same way―with a vocal line and a 

basic piano part written out underneath.

(C) You won’t find such extremes of approach by the performers 

of songs by Franz Schubert or Richard Strauss. These will 

be performed note for note because both the vocal and 

piano parts have been painstakingly written down by the 

composer with an ear for how each relates to the other. [3점]

* embellish:  꾸미다  ** tried-and-true: 유효성이 증명된

① (A) － (C) － (B) ② (B) － (A) － (C)

③ (B) － (C) － (A) ④ (C) － (A) － (B)

⑤ (C) － (B) － (A)

[38～39] 글의 흐름으로 보아, 주어진 문장이 들어가기에 가장 

적절한 곳을 고르시오. 

38.

The net effect of this was that, although customers 

benefited, the banks lost out as their costs increased but 

the total number of customers stayed the same.

In mature markets, breakthroughs that lead to a major 

change in competitive positions and to the growth of the 

market are rare. ( ① ) Because of this, competition becomes 

a zero sum game in which one organization can only win at 

the expense of others. ( ② ) However, where the degree of 

competition is particularly intense a zero sum game can 

quickly become a negative sum game, in that everyone in the 

market is faced with additional costs. ( ③ ) As an example 

of this, when one of the major high street banks in Britain 

tried to gain a competitive advantage by opening on Saturday 

mornings, it attracted a number of new customers who found 

the traditional Monday-Friday bank opening hours to be a 

constraint. ( ④ ) However, faced with a loss of customers, 

the competition responded by opening on Saturdays as 

well. ( ⑤ ) In essence, this proved to be a negative sum 

game. 

39.

Human beings discovered this art thousands of years ago, and 
they have invented several devices to make it easier and faster.

In fiber processing the word ‘spinning’ means two quite 
different things. ( ① ) One is the formation of individual 
fibers by squeezing a liquid through one or more small openings 
in a nozzle called a spinneret and letting it harden. ( ② ) Spiders 
and silkworms have been spinning fibers in this way for millions 
of years, but chemists and engineers learned the procedure from 
them only about a century ago. ( ③ ) In the other kind of 
spinning― sometimes called throwing to prevent confusion 
with the first kind― two or more fibers are twisted together to 
form a thread. ( ④ ) The ancient distaff and spindle are 
examples that were replaced by the spinning wheel in the Middle 
Ages. ( ⑤ ) Later came the spinning jenny, the water frame, 
and Crompton’s mule― spinning machines that became 
symbols of the Industrial Revolution. [3점]

* distaff and spindle: 실을 감는 막대와 추
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37.

Today the term artist is used to refer to a broad range of 

creative individuals across the globe from both past and 

present. This rather general usage erroneously suggests 

that the concept or word “artist” existed in original contexts.

(A) Inventions, ideas, and discoveries have been credited to 

the persons who originated them. This view is also at the 

core of the definition of an “artist.” Artists are perceived 

to establish a strong bond with their art to the point of 

combining into one “entity.”

(B) In contrast to the diversity it is applied to, the meaning of 

this term continues to be mostly based on Western views 

and values. Since the fifteenth century, this tradition has 

been concerned with recognizing individual achievements.

(C) Art history has reinforced this oneness: A painting by 

Pablo Picasso is called “a Picasso.” This union between 

artists and their work has determined the essential qualities 

of an artist: originality, authorship, and authenticity. [3점]

* authenticity : 진정함, 확실성

① (A) － (C) － (B) ② (B) － (A) － (C)
③ (B) － (C) － (A) ④ (C) － (A) － (B)
⑤ (C) － (B) － (A)

[38～39] 글의 흐름으로 보아, 주어진 문장이 들어가기에 가장 

적절한 곳을 고르시오.

38.

But the examination of the accuracy of information 

obtained in this manner is not a simple matter.

The one area in which the Internet could be considered an 

aid to thinking is the rapid acquisition of new information. 

( ① ) But this is more fictional than real. ( ② ) Yes, the 

simple act of typing a few words into a search engine will 

virtually instantaneously produce links related to the topic at 

hand. ( ③ ) What one often gets is no more than abstract 

summaries of lengthy articles. ( ④ ) As a consequence, I 

suspect that the number of downloads of any given scientific 

paper has little relevance to the number of times the entire 

article has been read from beginning to end. ( ⑤ ) My advice 

is that if you want to do some serious thinking, then you’d 

better disconnect the Internet, phone, and television set and try 

spending twenty-four hours in absolute solitude.

39.

But it is no light matter to quickly and correctly pen a long 

and complicated composition. 

There are many instances of rapid work on the part of the 
great composers; and their facility and quickness of 
composition causes great wonder and admiration. ( ① ) But 
our admiration is often misdirected. ( ② ) When we hear of 
some of the speedy writing of great works by Mozart or 
Mendelssohn, we might think that this speed was of the 
composing power as well as of pen, but, in fact, such was 
seldom the case. ( ③ ) These great musicians generally did 
their composition mentally without reference to pen or piano, 
and simply postponed the unpleasant manual labor of 
committing their music to paper until it became absolutely 
necessary. ( ④ ) Then they got credit for incredible rapidity 
of composition. ( ⑤ ) One has only to copy a piece of music 
or to try to put into notes some piece of music previously 
memorized, to realize this. [3점]
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홀수형

37.

To modern man disease is a biological phenomenon that 

concerns him only as an individual and has no moral 

implications. When he contracts inf luenza, he never 

attributes this event to his behavior toward the tax 

collector or his mother-in-law.

(A) Sometimes they may not strike the guilty person himself, 

but rather one of his relatives or tribesmen, to whom 

responsibility is extended. Disease, action that might 

produce disease, and recovery from disease are, 

therefore, of vital concern to the whole primitive 

community.

(B) Disease, as a sanction against social misbehavior, 

becomes one of the most important pillars of order in 

such societies. It takes over, in many cases, the role 

played by policemen, judges, and priests in modern 

society. 

(C) Among primitives, because of their supernaturalistic 

theories, the prevailing moral point of view gives a 

deeper meaning to disease. The gods who send disease 

are usually angered by the moral offences of the 

individual. [3점]

* sanction : 제재

① (A) － (C) － (B) ② (B) － (A) － (C)

③ (B) － (C) － (A) ④ (C) － (A) － (B)

⑤ (C) － (B) － (A)

[38～39] 글의 흐름으로 보아, 주어진 문장이 들어가기에 가장 

적절한 곳을 고르시오.

38.

Experiments show that rats display an immediate liking 

for salt the first time they experience a salt deficiency. 

Both humans and rats have evolved taste preferences for 

sweet foods, which provide rich sources of calories. A study 

of food preferences among the Hadza hunter-gatherers of 

Tanzania found that honey was the most highly preferred food 

item, an item that has the highest caloric value. ( ① ) Human 

newborn infants also show a strong preference for sweet 

liquids. ( ② ) Both humans and rats dislike bitter and sour 

foods, which tend to contain toxins. ( ③ ) They also 

adaptively adjust their eating behavior in response to deficits 

in water, calories, and salt. ( ④ ) They likewise increase 

their intake of sweets and water when their energy and f luids 

become depleted. ( ⑤ ) These appear to be specific evolved 

mechanisms, designed to deal with the adaptive problem of 

food selection, and coordinate consumption patterns with 

physical needs.

* deficiency: 결핍  ** deplete : 고갈시키다

39.

It is postulated that such contamination may result from 
airborne transport from remote power plants or municipal 
incinerators.

An incident in Japan in the 1950s alerted the world to the 
potential problems of organic mercury in fish. Factories were 
discharging mercury into the waters of Minamata Bay, which 
also harbored a commercial fishing industry. Mercury was being 
bioaccumulated in the fish tissue and severe mercury poisoning 
occurred in many people who consumed the fish. ( ① ) The 
disabling neurological symptoms were subsequently called 
Minamata disease. ( ② ) Control over direct discharge of 
mercury from industrial operations is clearly needed for 
prevention. ( ③ ) However, it is now recognized that traces of 
mercury can appear in lakes far removed from any such 
industrial discharge. ( ④ ) Strictly controlled emission standards 
for such sources are needed to minimize this problem. ( ⑤ ) 
Fish advisories have been issued for many lakes in the United 
States; these recommend limits on the number of times per 
month particular species of fish should be consumed.

* postulate :  가정하다  ** incinerator :  소각로
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37.

Promoting attractive images of one’s country is not new, 
but the conditions for trying to create soft power have 
changed dramatically in recent years. For one thing, nearly 
half the countries in the world are now democracies. 

(A) Technological advances have led to a dramatic reduction 

in the cost of processing and transmitting information. 

The result is an explosion of information, and that has 

produced a “paradox of plenty.” Plentiful information 

leads to scarcity of attention.

(B) In such circumstances, diplomacy aimed at public opinion 

can become as important to outcomes as traditional classified 

diplomatic communications among leaders. Information 

creates power, and today a much larger part of the world’s 

population has access to that power. 

(C) When people are overwhelmed with the volume of 

information confronting them, they have difficulty knowing 

what to focus on. Attention, rather than information, becomes 

the scarce resource, and those who can distinguish valuable 

information from background clutter gain power. [3점]

* clutter: 혼란

① (A) － (C) － (B) ② (B) － (A) － (C)

③ (B) － (C) － (A) ④ (C) － (A) － (B)

⑤ (C) － (B) － (A)

[38～39] 글의 흐름으로 보아, 주어진 문장이 들어가기에 가장 

적절한 곳을 고르시오.

38.

There is a considerable difference as to whether people 

watch a film about the Himalayas on television and become 

excited by the ‘untouched nature’ of the majestic mountain 

peaks, or whether they get up and go on a trek to Nepal.

Tourism takes place simultaneously in the realm of the 

imagination and that of the physical world. In contrast to 

literature or film, it leads to ‘real’, tangible worlds, while 

nevertheless remaining tied to the sphere of fantasies, dreams, 

wishes― and myth. It thereby allows the ritual enactment of 

mythological ideas. ( ① ) Even in the latter case, they 

remain, at least partly, in an imaginary world. ( ② ) They 

experience moments that they have already seen at home in 

books, brochures and films. ( ③ ) Their notions of untouched 

nature and friendly, innocent indigenous people will probably 

be confirmed. ( ④ ) But now this confirmation is anchored 

in a physical experience. ( ⑤ ) The myth is thus transmitted 

in a much more powerful way than by television, movies or 

books.

* indigenous: 토착의

39.

There are also clinical cases that show the flip side of this 
coin. 

Humans can tell lies with their faces. Although some are 
specifically trained to detect lies from facial expressions, the 
average person is often misled into believing false and 
manipulated facial emotions. One reason for this is that we are 
“two-faced.” By this I mean that we have two different neural 
systems that manipulate our facial muscles. ( ① ) One neural 
system is under voluntary control and the other works under 
involuntary control. ( ② ) There are reported cases of 
individuals who have damaged the neural system that controls 
voluntary expressions. ( ③ ) They still have facial expressions, 
but are incapable of producing deceitful ones. ( ④ ) The 
emotion that you see is the emotion they are feeling, since they 
have lost the needed voluntary control to produce false facial 
expressions. ( ⑤ ) These people have injured the system that 
controls their involuntary expressions, so that the only changes 
in their demeanor you will see are actually willed expressions.

* demeanor: 태도, 표정
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37.

Ever since the first scientific opinion polls revealed that 

most Americans are at best poorly informed about politics, 

analysts have asked whether citizens are equipped to play 

the role democracy assigns them.

(A) Such factors, however, can explain only the misinformation 

that has always been with us. The sharp rise in 

misinformation in recent years has a different source: our 

media. “They are making us dumb,” says one observer. 

When fact bends to fiction, the predictable result is 

political distrust and polarization.

(B) It’s the difference between ignorance and irrationality. 

Whatever else one might conclude about self-government, 

it’s at risk when citizens don’t know what they’re talking 

about. Our misinformation owes partly to psychological 

factors, including our tendency to see the world in ways 

that suit our desires.

(C) However, there is something worse than an inadequately 

informed public, and that’s a misinformed public. It’s one 

thing when citizens don’t know something, and realize it, 

which has always been a problem. It’s another thing when 

citizens don’t know something, but think they know it, 

which is the new problem.

* poll: 여론 조사

① (A) － (C) － (B) ② (B) － (A) － (C)

③ (B) － (C) － (A) ④ (C) － (A) － (B)

⑤ (C) － (B) － (A)

[38～39] 글의 흐름으로 보아, 주어진 문장이 들어가기에 가장 

적절한 곳을 고르시오.

38.

Moreover, more than half of Americans age 18 and older 

derive benefits from various transfer programs, while 

paying little or no personal income tax.

Both the budget deficit and federal debt have soared 

during the recent financial crisis and recession. ( ① ) During 

2009－2010, nearly 40 percent of federal expenditures were 

financed by borrowing. ( ② ) The huge recent federal deficits 

have pushed the federal debt to levels not seen since the years 

immediately following World War II. ( ③ ) The rapid growth 

of baby-boomer retirees in the decade immediately ahead will 

mean higher spending levels and larger and larger deficits for 

both Social Security and Medicare. ( ④ ) All of these factors 

are going to make it extremely difficult to slow the growth of 

federal spending and keep the debt from ballooning out of 

control. ( ⑤ ) Projections indicate that the net federal debt 

will rise to 90 percent of GDP by 2019, and many believe it 

will be even higher unless constructive action is taken soon.

* deficit: 부족, 결손  ** federal: 연방의  *** soar: 급등하다, 치솟다

39.

We become entrusted to teach culturally appropriate 
behaviors, values, attitudes, skills, and information about 
the world.

Erikson believes that when we reach the adult years, several 
physical, social, and psychological stimuli trigger a sense of 
generativity. A central component of this attitude is the desire 
to care for others. ( ① ) For the majority of people, parenthood 
is perhaps the most obvious and convenient opportunity 
to fulfill this desire. ( ② ) Erikson believes that another 
distinguishing feature of adulthood is the emergence of an 
inborn desire to teach. ( ③ ) We become aware of this desire 
when the event of being physically capable of reproducing is 
joined with the events of participating in a committed 
relationship, the establishment of an adult pattern of living, and 
the assumption of job responsibilities. ( ④ ) According to 
Erikson, by becoming parents we learn that we have the need to 
be needed by others who depend on our knowledge, protection, 
and guidance. ( ⑤ ) By assuming the responsibilities of being 
primary caregivers to children through their long years of 
physical and social growth, we concretely express what Erikson 
believes to be an inborn desire to teach.  [3점]
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홀수형

37.

Clearly, schematic knowledge helps you― guiding your 

understanding and enabling you to reconstruct things you 

cannot remember. 

(A) Likewise, if there are things you can’t recall, your 

schemata will fill in the gaps with knowledge about 

what’s typical in that situation. As a result, a reliance on 

schemata will inevitably make the world seem more 

“normal” than it really is and will make the past seem 

more “regular” than it actually was.

(B) Any reliance on schematic knowledge, therefore, will be 

shaped by this information about what’s “normal.” Thus, 

if there are things you don’t notice while viewing a 

situation or event, your schemata will lead you to fill in 

these “gaps” with knowledge about what’s normally in 

place in that setting. 

(C) But schematic knowledge can also hurt you, promoting 

errors in perception and memory. Moreover, the types of 

errors produced by schemata are quite predictable: Bear in 

mind that schemata summarize the broad pattern of your 

experience, and so they tell you, in essence, what’s typical 

or ordinary in a given situation. [3점]

① (A) － (C) － (B) ② (B) － (A) － (C)

③ (B) － (C) － (A) ④ (C) － (A) － (B)

⑤ (C) － (B) － (A)

[38～39] 글의 흐름으로 보아, 주어진 문장이 들어가기에 가장 

적절한 곳을 고르시오.

38.

The advent of literacy and the creation of handwritten 

scrolls and, eventually, handwritten books strengthened the 

ability of large and complex ideas to spread with high 

fidelity.

The printing press boosted the power of ideas to copy 

themselves. Prior to low-cost printing, ideas could and did 

spread by word of mouth. While this was tremendously 

powerful, it limited the complexity of the ideas that could be 

propagated to those that a single person could remember. ( ① ) 

It also added a certain amount of guaranteed error. ( ② ) The 

spread of ideas by word of mouth was equivalent to a game of 

telephone on a global scale. ( ③ ) But the incredible amount 

of time required to copy a scroll or book by hand limited the 

speed with which information could spread this way. ( ④ ) A 

well-trained monk could transcribe around four pages of text 

per day. ( ⑤ ) A printing press could copy information 

thousands of times faster, allowing knowledge to spread far 

more quickly, with full fidelity, than ever before.

* fidelity: 충실 ** propagate: 전파하다

39.

A round hill rising above a plain, therefore, would appear 
on the map as a set of concentric circles, the largest at the 
base and the smallest near the top.

A major challenge for map-makers is the depiction of hills and 
valleys, slopes and flatlands collectively called the topography. 
This can be done in various ways. One is to create an image of 
sunlight and shadow so that wrinkles of the topography are 
alternately lit and shaded, creating a visual representation of the 
shape of the land. ( ① ) Another, technically more accurate 
way is to draw contour lines. ( ② ) A contour line connects all 
points that lie at the same elevation. ( ③ ) When the contour 
lines are positioned closely together, the hill’s slope is steep; if 
they lie farther apart, the slope is gentler. ( ④ ) Contour lines 
can represent scarps, hollows, and valleys of the local 
topography. ( ⑤ ) At a glance, they reveal whether the relief in 
the mapped area is great or small: a “busy” contour map means 
lots of high relief. [3점]

* concentric: 중심이 같은 ** scarp: 가파른 비탈

*** relief: (토지의) 고저, 기복
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2020학년도 대학수학능력시험 6월 모의평가 문제지

영어 영역

제3교시

○ 문제지의 해당란에 성명과 수험 번호를 정확히 쓰시오.

○ 답안지의 필적 확인란에 다음의 문구를 정자로 기재하시오.

넓은 하늘의 수만 별을 그대로 총총

○ 답안지의 해당란에 성명과 수험 번호를 쓰고, 또 수험 번호, 문형

(홀수/짝수), 답을 정확히 표시하시오.

○ 문항에 따라 배점이 다릅니다. 3점 문항에는 점수가 표시되어 있습니다.

점수 표시가 없는 문항은 모두 2점입니다.

※ 시험이 시작되기 전까지 표지를 넘기지 마시오.

한국교육과정평가원

성명 수험번호



37.

Marshall McLuhan, among others, noted that clothes are 

people’s extended skin, wheels extended feet, camera and 

telescopes extended eyes. Our technological creations are 

great extrapolations of the bodies that our genes build. 

(A) The blueprints for our shells spring from our minds, which 

may spontaneously create something none of our ancestors 

ever made or even imagined. If technology is an extension 

of humans, it is not an extension of our genes but of our 

minds. Technology is therefore the extended body for ideas.

(B) In this way, we can think of technology as our extended 

body. During the industrial age it was easy to see the world 

this way. Steam-powered shovels, locomotives, television, 

and the levers and gears of engineers were a fabulous 

exoskeleton that turned man into superman.

(C) A closer look reveals the flaw in this analogy: The extended 

costume of animals is the result of their genes. They inherit 

the basic blueprints of what they make. Humans don’t. [3점]

* extrapolation: 연장(延長)  ** exoskeleton: 외골격  *** flaw: 결함

① (A) － (C) － (B) ② (B) － (A) － (C)

③ (B) － (C) － (A) ④ (C) － (A) － (B)

⑤ (C) － (B) － (A)

[38～39] 글의 흐름으로 보아, 주어진 문장이 들어가기에 가장 

적절한 곳을 고르시오.

38.

Rather, happiness is often found in those moments we are 

most vulnerable, alone or in pain. 

We seek out feel-good experiences, always on the lookout for 

the next holiday, purchase or culinary experience. This approach 

to happiness is relatively recent; it depends on our capacity both 

to pad our lives with material pleasures and to feel that we can 

control our suffering. ( ① ) Painkillers, as we know them today, 

are a relatively recent invention and access to material comfort is 

now within reach of a much larger proportion of the world’s 

population. ( ② ) These technological and economic advances 

have had significant cultural implications, leading us to see our 

negative experiences as a problem and maximizing our positive 

experiences as the answer. ( ③ ) Yet, through this we have 

forgotten that being happy in life is not just about pleasure. ( ④ ) 

Comfort, contentment and satisfaction have never been the elixir 

of happiness. ( ⑤ ) Happiness is there, on the edges of these 

experiences, and when we get a glimpse of that kind of happiness 

it is powerful, transcendent and compelling.

* culinary: 요리의  ** elixir: 특효약  *** transcendent: 뛰어난 

39.

That puts you each near a focus, a special point at which 
the sound of your voice gets focused as it reflects off the 
passageway’s curved walls and ceiling.

Whispering galleries are remarkable acoustic spaces found 
beneath certain domes or curved ceilings. A famous one is 
located outside a well-known restaurant in New York City’s 
Grand Central Station. ( ① ) It’s a fun place to take a date: 
the two of you can exchange romantic words while you’re 
forty feet apart and separated by a busy passageway. ( ② ) 
You’ll hear each other clearly, but the passersby won’t hear a 
word you’re saying. ( ③ ) To produce this effect, the two of 
you should stand at diagonally opposite corners of the space, 
facing the wall. ( ④ ) Ordinarily, the sound waves you 
produce travel in all directions and bounce off the walls at 
different times and places, scrambling them so much that they 
are inaudible when they arrive at the ear of a listener forty feet 
away. ( ⑤ ) But when you whisper at a focus, the reflected 
waves all arrive at the same time at the other focus, thus 
reinforcing one another and allowing your words to be heard. 

[3점]

* acoustic: 음향의  ** diagonally: 대각선으로
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2020학년도 대학수학능력시험 9월 모의평가 문제지

영어 영역

제3교시

○ 문제지의 해당란에 성명과 수험 번호를 정확히 쓰시오.

○ 답안지의 필적 확인란에 다음의 문구를 정자로 기재하시오.

맑고 아름다운 하늘을 받들어

○ 답안지의 해당란에 성명과 수험 번호를 쓰고, 또 수험 번호, 문형

(홀수/짝수), 답을 정확히 표시하시오.

○ 문항에 따라 배점이 다릅니다. 3점 문항에는 점수가 표시되어 있습니다.

점수 표시가 없는 문항은 모두 2점입니다.

※ 시험이 시작되기 전까지 표지를 넘기지 마시오.

한국교육과정평가원

성명 수험번호



37.

Because a main goal of science is to discover lawful 
relationships, science assumes that what is being investigated 
is lawful. For example, the chemist assumes that chemical 
reactions are lawful, and the physicist assumes that the 
physical world is lawful.

(A) The determinist, then, assumes that everything that occurs 
is a function of a finite number of causes and that, if these 
causes were known, an event could be predicted with 
complete accuracy. However, knowing all causes of an 
event is not necessary; the determinist simply assumes 
that they exist and that as more causes are known, 
predictions become more accurate.

(B) The assumption that what is being studied can be understood 
in terms of causal laws is called determinism. Richard 
Taylor defined determinism as the philosophical doctrine 
that “states that for everything that ever happens there are 
conditions such that, given them, nothing else could happen.”

(C) For example, almost everyone would agree that the weather 
is a function of a finite number of variables such as sunspots, 
high-altitude jet streams, and barometric pressure; yet 
weather forecasts are always probabilistic because many of 
these variables change constantly, and others are simply 
unknown.

* altitude: 고도(高度)  ** barometric: 기압의

① (A) － (C) － (B) ② (B) － (A) － (C)

③ (B) － (C) － (A) ④ (C) － (A) － (B)

⑤ (C) － (B) － (A)

[38～39] 글의 흐름으로 보아, 주어진 문장이 들어가기에 가장 

적절한 곳을 고르시오.

38.

The field of international politics is, however, dominated 
by states and other powerful actors (such as multinational 
corporations) that have priorities other than human rights.  

There is obviously a wide gap between the promises of the 
Universal Declaration of Human Rights in 1948 and the real 
world of human-rights violations. In so far as we sympathize 
with the victims, we may criticize the UN and its member 
governments for failing to keep their promises. ( ① ) 
However, we cannot understand the gap between human-rights 
ideals and the real world of human-rights violations by 
sympathy or by legal analysis. ( ② ) Rather, it requires 
investigation by the various social sciences of the causes of 
social conflict and political oppression, and of the interaction 
between national and international politics. ( ③ ) The UN 
introduced the concept of human rights into international law 
and politics. ( ④ ) It is a leading feature of the human-rights 
field that the governments of the world proclaim human rights 
but have a highly variable record of implementing them. ( ⑤ ) 
We must understand why this is so.

* oppression: 억압

39.  

So, there was a social pressure for art to come up with 
some vocation that both distinguished it from science and, 
at the same time, made it equal in stature to science. 

Representational theories of art treat the work of the artist as 
similar to that of the scientist. Both, so to speak, are involved in 
describing the external world. ( ① ) But by the nineteenth 
century, any comparison between the scientist and the artist 
was bound to make the artist look like a poor relation in terms 
of making discoveries about the world or holding a mirror up to 
nature. ( ② ) Here, science clearly had the edge. ( ③ ) The 
notion that art specialized in the expression of the emotions 
was particularly attractive in this light. ( ④ ) It rendered unto 
science its own― the exploration of the objective world―while 
saving something comparably important for art to do― to 
explore the inner world of feeling. ( ⑤ ) If science held the 
mirror up to nature, art turned a mirror at the self and its 
experiences.  [3점]

* vocation: 소명  ** stature: 수준  *** render: 주다
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2020학년도 대학수학능력시험 문제지

영어 영역

제3교시

○ 문제지의 해당란에 성명과 수험 번호를 정확히 쓰시오.

○ 답안지의 필적 확인란에 다음의 문구를 정자로 기재하시오.

너무 맑고 초롱한 그 중 하나 별이여

○ 답안지의 해당란에 성명과 수험 번호를 쓰고, 또 수험 번호, 문형

(홀수/짝수), 답을 정확히 표시하시오.

○ 문항에 따라 배점이 다릅니다. 3점 문항에는 점수가 표시되어 있습니다.

점수 표시가 없는 문항은 모두 2점입니다.

※ 시험이 시작되기 전까지 표지를 넘기지 마시오.

한국교육과정평가원

홀수형

성명 수험번호



홀수형

37.

Traditionally, Kuhn claims, the primary goal of historians 
of science was ‘to clarify and deepen an understanding of 
contemporary scientific methods or concepts by displaying 
their evolution’.

(A) Some discoveries seem to entail numerous phases and 
discoverers, none of which can be identified as definitive. 
Furthermore, the evaluation of past discoveries and 
discoverers according to present-day standards does not 
allow us to see how significant they may have been in 
their own day.

(B) This entailed relating the progressive accumulation of 
breakthroughs and discoveries. Only that which survived in 
some form in the present was considered relevant. In the 
mid-1950s, however, a number of faults in this view of history 
became apparent. Closer analysis of scientific discoveries, 
for instance, led historians to ask whether the dates of 
discoveries and their discoverers can be identified precisely.

(C) Nor does the traditional view recognise the role that 
non-intellectual factors, especially institutional and 
socio-economic ones, play in scientific developments. Most 
importantly, however, the traditional historian of science 
seems blind to the fact that the concepts, questions and 
standards that they use to frame the past are themselves 
subject to historical change. [3점]

① (A) － (C) － (B) ② (B) － (A) － (C)

③ (B) － (C) － (A) ④ (C) － (A) － (B)

⑤ (C) － (B) － (A)

[38～39] 글의 흐름으로 보아, 주어진 문장이 들어가기에 가장 

적절한 곳을 고르시오.

38.

Thus, individuals of many resident species, confronted with 
the fitness benefits of control over a productive breeding 
site, may be forced to balance costs in the form of lower 
nonbreeding survivorship by remaining in the specific 
habitat where highest breeding success occurs. 

Resident-bird habitat selection is seemingly a straightforward 
process in which a young dispersing individual moves until it 
finds a place where it can compete successfully to satisfy its 
needs. ( ① ) Initially, these needs include only food and 
shelter. ( ② ) However, eventually, the young must locate, 
identify, and settle in a habitat that satisfies not only survivorship 
but reproductive needs as well. ( ③ ) In some cases, the 
habitat that provides the best opportunity for survival may not be 
the same habitat as the one that provides for highest reproductive 
capacity because of requirements specific to the reproductive 
period. ( ④ ) Migrants, however, are free to choose the 
optimal habitat for survival during the nonbreeding season and 
for reproduction during the breeding season. ( ⑤ ) Thus, 
habitat selection during these different periods can be quite 
different for migrants as opposed to residents, even among 
closely related species.

* disperse: 흩어지다 ** optimal: 최적의

39.

Still, it is arguable that advertisers worry rather too much 
about this problem, as advertising in other media has 
always been fragmented. 

The fragmentation of television audiences during recent 
decades, which has happened throughout the globe as new 
channels have been launched everywhere, has caused advertisers 
much concern. ( ① ) Advertisers look back nostalgically to the 
years when a single spot transmission would be seen by the 
majority of the population at one fell swoop. ( ② ) This made 
the television advertising of mass consumer products relatively 
straightforward― not to say easy―whereas today it is necessary 
for advertisers to build up coverage of their target markets over 
time, by advertising on a host of channels with separate 
audiences. ( ③ ) Moreover, advertisers gain considerable 
benefits from the price competition between the numerous 
broadcasting stations. ( ④ ) And television remains much the 
fastest way to build up public awareness of a new brand or a new 
campaign. ( ⑤ ) Seldom does a new brand or new campaign 
that solely uses other media, without using television, reach high 
levels of public awareness very quickly. [3점]

* fragment: 조각내다 ** at one fell swoop: 단번에, 일거에
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2018 학년도~2020 학년도 3개년 절대평가

평가원 영어 기출 순서삽입 답

2018 학년도 6평 : 5/2/5/4

2018 학년도 9평 : 4/2/3/5

2018 학년도 수능 : 3/4/4/4

2019 학년도 6평 : 5/2/1/5

2019 학년도 9평 : 2/5/4/5

2019 학년도 수능 : 3/5/3/3

2020 학년도 6평 : 2/3/5/4

2020 학년도 9평 : 5/2/4/3

2020 학년도 수능 : 5/2/4/3





※ 시험이 시작되기 전까지 표지를 넘기지 마시오.



     제2교시

      

2018학년도 사관학교 1차 선발시험 문제지 

                 영 어  영 역 공통

성명 수험번호

○ 먼저 문제지에 성명과 수험번호를 기입하시오.

○ 답안지에 성명과 수험번호를 정확하게 표기하시오.

※ 시험 시작 전까지 표지를 넘기지 마시오.





공 통 영 어 영 역

[26∼27] 글의 흐름으로 보아, 주어진 문장이 들어가기에 가장 적절한 곳을 고르시오.

26.

However, the same sport can have different meanings to different groups of people.

As with education, sport has a common core of shared meaning and a periphery of additional

meanings that are very much context-dependent. ( ① ) In other words, although most of us

have a common understanding of what sport is, it can still mean different things to different

people. ( ② ) In general terms we recognize that football is sport, but that ballroom dancing is

not; motor racing is sport, but driving to work is not; sailing a boat on an ocean is sport, but

sailing on a tanker delivering oil is not. ( ③ ) It is not necessary to define what we mean by

sport whenever the word is used. ( ④ ) As an example of these differing meanings let us

consider the sport of tennis. ( ⑤ ) To a professional tennis player tennis is a job; to a club

player, however competitive, tennis is essentially a recreation; to a spectator at Wimbledon,

tennis may be a temporary diversion or an all consuming vicarious passion.

*vicarious 대리의

27.

In a stable, fully occupied habitat, there may not be enough nest sites or food available in a

given year for new breeders to strike out on their own.

Flamingos, penguins, ostriches, giraffes, dolphins, crocodiles, and many other species leave

their young in the care of other adults for a while. This gives parents the freedom to track

down the most nutritious foods for their growing family. ( ① ) Just who are these surrogate

parents that care for the young? ( ② ) The sitters may be parents taking random turns, or

they may be nonbreeding individuals that are related to the parents. ( ③ ) Though it may look

like altruism, the sitters are merely promoting their own genes tied up in the young nieces,

nephews, or siblings that they are caring for. ( ④ ) If their aim is to further their genes, you

may ask, why not just have their own brood? ( ⑤ ) Rather than be forced into a marginal

nesting site, they might hold off for a year, learning tricks in the meantime that will make them

better parents. [3점]

*surrogate 대리의



영 어 영 역 공 통

[34∼35] 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것을 고르시오.

34.

You see your friend running towards you. As he approaches he gets larger and larger.

However, you know your friend is coming closer, not actually growing.

(A) Likewise, as a car passes you and moves off into the distance, it appears to get smaller.

However, it is known that perception of size does not vary as much as would be

expected from the change in size of the retinal image.

(B) This is because you have knowledge in your memory about the size of people and know

that people do not rapidly change size. In fact, the retinal image is expanding, and the

rate of expansion is an indication of how fast something, in this case your friend, is

approaching.

(C) These are the examples of perceptual constancy. Basically we experience a car moving

away, or a person coming nearer. We do not concern ourselves with the changing size;

we interpret the information as giving movement in the depth plane.

*retinal 망막의

① (A) - (C) - (B) ② (B) - (A) - (C) ③ (B) - (C) - (A)

④ (C) - (A) - (B) ⑤ (C) - (B) - (A)

35.

One of the most valuable outcomes from coaching people is that you also develop yourself

in the process of coaching. It is the genuine passion and intention to grow others that spurs

us on to transform ourselves.

(A) This cycle of learning returns over and over again throughout the entire coaching

relationship. As we coach more people, we inculcate knowledge, skills, and competencies

in coaching that will help us in many aspects of our professional and personal lives.

(B) During the coaching session, we gain hands-on experience and practice coaching skills

and techniques. After coaching, we reflect on what happened during the dialogue and

what went well, what didn’t, and how we can do better next time.

(C) To develop others, we have to first develop ourselves. And to continuously change

others, we can’t help but continuously transform ourselves. Before we coach, we learn,

we prepare, and we reflect on how we can be an effective coach. [3점]

*inculcate 되풀이하여 가르치다

① (A) - (C) - (B) ② (B) - (A) - (C) ③ (B) - (C) - (A)

④ (C) - (A) - (B) ⑤ (C) - (B) - (A)



     제2교시

      

2019학년도 사관학교 1차 선발시험 문제지 

                 영 어 영 역 공통

성명 수험번호

○ 먼저 문제지에 성명과 수험번호를 기입하시오.

○ 답안지에 성명과 수험번호를 정확하게 표기하시오.

※ 시험 시작 전까지 표지를 넘기지 마시오.





공 통 영 어 영 역

[31∼32] 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것을 고르시오.

31.

To parents and the general public, class size seems to be the “litmus test” of the quality of

a school. Schools with small class sizes are perceived as being better than schools with large

class sizes. Surveys show that parents care more about class size than anything else except

school safety.

(A) Furthermore, discipline is much more difficult: for example, students may be able to doze in

class without the teacher knowing it, and surely the teacher cannot correct every student

who shows evidence of daydreaming.

(B) After all, if a teacher has only fifteen or so students in a class, it is far more possible for

that teacher to provide individual attention to each student. None will be left behind, and

none will have to move forward on their own.

(C) On the other hand, teachers of class sizes of thirty or so students simply cannot teach to

each individual student. These teachers have huge numbers of papers to grade, grades to

calculate, makeup work for students who are absent, parents to contact, and e-mails to

answer.

① (A) - (C) - (B) ② (B) - (A) - (C) ③ (B) - (C) - (A)

④ (C) - (A) - (B) ⑤ (C) - (B) - (A)

32.

Eating is still fun for the one-year-old, but it is no longer the main interest in the child’s

life. Children’s need for food is determined mostly by their activity level and by the rate at

which they are growing in height and weight.

(A) If this happens everybody loses. The parents lose because they never get over their

frustration at the way their children eat. The children lose because they really do become

picky, difficult eaters or else chronic overeaters.

(B) That concern often leads parents to try to force children to eat more. When parents force

and children resist, a chronic battle is set up which may become more important to all

concerned than the question of food which started it all in the first place.

(C) Because this rate slows down greatly in the second year of life, many children are actually

eating less at 15-18 months than they were at 8-10 months. Not unexpectedly this

concerns a great many parents who feel it is obvious that the bigger and older children are,

the more they should eat.

① (A) - (C) - (B) ② (B) - (A) - (C) ③ (B) - (C) - (A)

④ (C) - (A) - (B) ⑤ (C) - (B) - (A)



영 어 영 역 공 통

[33∼34] 글의 흐름으로 보아, 주어진 문장이 들어가기에 가장 적절한 곳을 고르시오.

33.

That prompted the military to take the chemical-repelling technology that it had developed to

protect soldiers against biological weapons and apply it to T-shirts and underwear.

Who knew that the largest number of casualties from Operation Desert Storm in the 1991

Gulf War would be from bacterial infections? Soldiers in combat don’t always have the luxury

of being able to change into fresh underwear, if they even have a clean pair to change into.

( ① ) Underwear worn day after day in those hot desert conditions turned out to be a

significant cause of bacterial infections and discomfort. ( ② ) The underwear is manufactured by

using microwave energy to bond tiny “nanoparticles” to the fibers in the underwear fabric. ( ③ )

Then chemicals that repel oil, water, bacteria, and other substances are bonded to the

nanoparticles. ( ④ ) The result was underwear that is very, very difficult to get dirty, because

virtually nothing will stick to it. ( ⑤ ) And because bacteria never gets established,

undergarments made with the stuff can be worn for weeks without washing and without risk to

the wearer’s health. [3점]

34.

However, private property rights are not sacred, even in societies with strong views on this

subject.

Landscape-level restoration will almost always involve public property (especially where water

is concerned) and a mixture of organizational and personal private property. ( ① ) Consequently,

a formidable barrier to a landscape approach is the inevitable conflicts between environmental

protection and property rights. ( ② ) The individual property owner with a small wetland is

likely to be angry when told that filling, draining or altering the wetland in major ways is

illegal. ( ③ ) This property, the owner sometimes says, is private “and I will do as I wish with

my property.” ( ④ ) Each person lives not only on private property, but in a larger ecological

landscape shared with others. ( ⑤ ) So, a key question is: to what extent should individual,

organizational or national behavior and attitudes be modified for the betterment of others of the

human species and for other species as well?



     제2교시

      

2020학년도 사관학교 1차 선발시험 문제지 

                 영 어 영 역 공통

성명 수험번호

○ 먼저 문제지에 성명과 수험번호를 기입하시오.

○ 답안지에 성명과 수험번호를 정확하게 표기하시오.

※ 시험 시작 전까지 표지를 넘기지 마시오.





공 통 영 어 영 역

[31∼32] 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것을 고르시오.

31.

Today, the secret of success of many profitable businesses lies in their ability to process the
data using advanced analytical methods. The business of information management encompasses
more than just storing the data. It also covers ‘data mining’ or acquiring information by
processing data using a new form of business intelligence.

(A) This ability of knowing ‘why’ will therefore empower the organization to make the
necessary strategic changes. For example, the organization should capitalize on the newfound
knowledge by building a stronger, one-to-one relationship with its customers.

(B) However, a report aided by data mining or business intelligence, is not only able to identify
the best-selling product in a supermarket but the report is also able to explain the reasons
why the product is the best.

(C) Hence, organizations need to invest in data mining techniques (aided by statistical analysis,
visualization and neural networks) to uncover hidden patterns, discover new knowledge, and
as a consequence gain more insight into the current business situation. For example, a
typical report is able to identify the best-selling product in a supermarket.

① (A) - (C) - (B) ② (B) - (A) - (C) ③ (B) - (C) - (A)

④ (C) - (A) - (B) ⑤ (C) - (B) - (A)

32.

As the case on the Canada-US Free Trade Agreement shows, it was important for Canada
to gain the attention of US political leadership to increase Canadian power in the negotiation.
Lack of attention by the stronger party is often a statement that it does not consider the other
side particularly powerful or significant.

(A) This action provoked a diplomatic crisis between the two long-time allies and succeeded in
getting US attention, which led to high-level American participation in the negotiations. Canada
enhanced its power by playing on the historically strong relationship between the two countries.

(B) Such lack of attention may manifest itself in many ways, but it is almost always
demonstrated by entrusting the negotiations to relatively low-level officials who have limited
authority and access to their country’s political leadership.

(C) Canada faced this problem in this negotiation. The tactics of attention-getting may include stalling
and walking out of the negotiations. In the Canada-US Free Trade Agreement talks, Canada
walked out when they felt that the United States was not taking the negotiations seriously.

* stall: (교묘하게) 시간을 벌다

① (A) - (C) - (B) ② (B) - (A) - (C) ③ (B) - (C) - (A)

④ (C) - (A) - (B) ⑤ (C) - (B) - (A)



영 어 영 역 공 통

[33∼34] 글의 흐름으로 보아, 주어진 문장이 들어가기에 가장 적절한 곳을 고르시오.

33.

An alternative use, however, treats law generally as a means of enforcing norms or standards

of social behavior.

The term ‘law’ has been used in a wide variety of ways. In the first place, there are scientific

laws or what are called descriptive laws. These describe regular or necessary patterns of

behavior found in either natural or social life. ( ① ) The most obvious examples are found in the

natural sciences; for instance, in the laws of motion and thermodynamics advanced by physicists.

( ② ) But this notion of law has also been employed by social theorists, in an attempt to

highlight predictable, even inevitable, patterns of social behavior. ( ③ ) This can be seen in

Engels’s assertion that Marx uncovered the ‘laws’ of historical and social development, and in the

so-called ‘laws’ of demand and supply which underlie economic theory. ( ④ ) Sociologists have

thus seen forms of law at work in all organized societies, ranging from informal processes

usually found in traditional societies to the formal legal systems typical of modern societies.

( ⑤ ) By contrast, political theorists have tended to understand law more specifically, seeing it

as a distinctive social institution clearly separate from other social rules or norms and only found

in modern societies. [3점]

34.

Another, unexpected, consequence is the ability of bacteria to overcome the mechanisms that

give antibiotics their efficacy, rendering them useless.

Initially seen as miracle drugs, antibiotics, once they became widely available, were used not

only for bacterial infections, but for everything from the common cold to headaches. ( ① ) Indeed

antibiotics were a godsend, drastically improving medicine and contributing significantly to the

increase in life expectancy achieved during the twentieth century. ( ② ) Like many technological

fixes, along with the positive benefits of antibiotics came negative side effects. ( ③ ) Antibiotics

can kill the many beneficial bacteria in the human body, for instance those that promote

digestion, along with invasive bacteria. ( ④ ) Antibiotic resistance, first a curiosity seen in the

laboratory, became common among populations of bacteria exposed to antibiotics. ( ⑤ ) In a

matter of years following the introduction of penicillin, penicillin-destroying staphylococci appeared

in hospitals where much of the early use of penicillin had taken place.

* staphylococci: 포도상구균
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